V zavislosti na parametru a € R urcete hodnost matice A
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V zavislosti na parametru a € R urcete hodnost matice A
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h

1.
h(A)=2proa=-3aa=1,
h(A) = 3 jinak.

2.
h(A)=1proa=1,
h(A) = 3 jinak.

3.
h(A) =2proa=2,
h(A) = 3 jinak.

4.
h(A)=1proa= -2,
h(A) = 3 jinak.

o.

h(A)=1proa=—1,
h(A)=2proa=1,
h(A) = 3 jinak.

6.
h(A)=2proa=—-4aa=0,
h(A) = 3 jinak.

7.
1
h(A):2pr0a25, aa=1,

h(A) = 3 jinak.

(A)=2proa=—-laa=7,
(A) = 3 jinak.

> T

9.
(A)=2proa=0,a=1laa=2,

(A) = 3 jinak.

10. 1
h(A)=2proa= 3
h(A) = 3 jinak.

11.
h(A)=2proa=2,
h(A) = 3 jinak.

12.

h(A):Qproa:%aazl,
h(A) = 3 jinak.

13.
h(A)=2proa=1laa=4,

h(A) = 3 jinak.

14.
h(A)=1proa=0,
h(A)=2proa= 7?,
h(A) = 3 jinak.

15.
h(A)=2proa=1,
h(A) = 3 jinak.

16.
h(A)=1proa=1,
h(A) = 3 jinak.

17.

h(A)=2proa=-laa=1,
h(A) = 3 jinak.

2016,/2017

18.
h(A)=2proa=1,
h(A) = 3 jinak.

19.
h(A)=1proa=1,
h(A) = 3 jinak.

20.

h(A)=2proa=0aa=1,
h(A) = 3 jinak.

21. 4
h(A):Zproa:—gaa:?),

h(A) = 3 jinak.

22.
h(A)=2proa=2aa=10,

h(A) = 3 jinak.

23.
h(A)=2proa=3aa=06,
h(A) = 3 jinak.

24.

(A)=2proa=0aa=1,
h(A) = 3 jinak.
25.

h(A)=2proa=—-8aa=1,
h(A) = 3 jinak.



